Solve this system of equations.

This would probably be easiest Turning a system of equations into a matrix equation: A-X = B
using Elimination. 8x - 5y = -23
6x+7y =15
5(8x-5y=-23)\—> AR —I‘_D}j e A & X = B
Hiex + 7y = 15\~ "24x 42y = bo
Matrix A is called the| | |Matrix X is called the | _ [Matrix B is called the
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Using one of the original J/ s x 2%

equations substitute 3 fory @ 7 - (D

and solve for x: (Q _th) 5 e Sol is: ( 1 3) \Y l

X+ = L
+ =15—
6x+7y =15 Gx +71=15
Lx=b
-1 Solve this by doing: |
X=A%B = {S]
as an ordered pair the answer is: (-1, 3)
When using matrices to solve a system of equations LS meltrices (o Solve this system ol equations:

both equations must be in Standard Form. 11a- 15b = -145

13b + 8a = 38 — rewrite this so that the variables on the left side

When you solve you will always do this: are in the same order as the top equation
11a-15b=-145
X _41.p 8a+ 13b = 38 1 X:-mi
Y B Write this system as a matrix equation: 38

B

Il

A X
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as an ordered pair the answer is: (-5, 6)




Use matrices to solve this system of equations:

2.7x- 3.4y = 2.47
8.6x + 9.5y = 30.23

Turn this system into a matrix equation:

A

23 =3 2

%.b Ci.S 30.13 Solve this by doing: - 3
. X=A—1,B - Lo

as an ordered pair the answer is: (2.3, 1.1)

Use matrices to solve this system of equations:

y=4x-8 — —le+\j———%
6x+7y=-5

Turn this system into a matrix equation:

“i (
6 X L } Solve this by doing: .S
= K_'?—]

X=A"B

as an ordered pair the answer is: (1.5, -2)

Solve.
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Turn this system into a matrix equation:

J Yo Solve this by doing: 24 _l
—/8

X=A"B =

4 Li-\\N
Dl— s\l\f‘

as an ordered pair the answer is: (24, -18)

Solve this system of equations. Give answer as an ordered triple.
Turn this system into a matrix equation:

4x -y +3z=-5 5
-3x+5y+z=10 e
(0
6x-7y-8z=1 ’:» ‘v/ X = |
Ve et
2% % 3x |
AX =B

Solve this by doing:
X=A"B L }

as an ordered triple the answeris: (1, 3, -2)



